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2. qS qr{dfrg I

3. qS q{+ A 316 Tfl{ * |

4. E€$r'r-c-I6I"*,fidt*9ff ffi q+. qrqqAfug, efu<

t:ft .r<t qr qrtqc \'6 * *fl qIEq t

(a) Define the risk. Discuss the standard deviation

and coefficient of variance as a measure of risk

in lnvestment decision (8)

(b) The return on security A and B under different

economic conditions are given below

Security A (%) Security B (%)

0.25 t2 l5

040 I5 t4

0.35 18 22

Calculate the return and risk (in term of standard

deviation) of both securities, also advice which

security is better and whY? (10)

11

(a) Define the valuation. Elaborate in brief about

various methods of valuation. (10)

(b) Describe in the brief cost of capital and cost equity

methods. (8)

OR

(a) What is the discounted cash flow and how it is

useful for the valuation? Discuss the limitation of

discounted cash flow model. (10)

(b) How relative valuation theory is dift'erent form

discounted cash flow model? Discuss (8)

(a,) aer*-< A vfraF-d dfrqr Tqr+< + frfu< nH

+ sft i- q&q I frFR t {f,rst

(r<) Xfr di dFlir s}< EM ft$r& qT €*c + q"ir

frfrql

qI
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(q.) ofi< fr+sr wr +? d-G ftan n E3 m-q eRq.-d +
qfr+ERRtffirsh

(ra) vo ft*sr6' cso w+ t \6'd,< {ct-f,dr *r de d
qRrft-dT s-qfu a s{ l, mfe sfu $q-{ q{ 9% i
3lh 3{Frd Tg tooo ir di< fr vfueE-ar qq ,6*o
are dfrsr qR qrs z qS qrq tozs qt ote qd drq
*, + sia 6+ +rc cfts-d d qurqr dfrqr

(6) fr&-{ Etuff tsr6t qiga * sR i q&c t E6R I
ttdlgr

cftnftR c'ftTfr S

3rq&"{ ffrs 1s% 20%

qr++ G-+.zq 8% 10%

r6idu 1vriq q-5ii;qq

uris 0.2

qfr Farr6 ftrdRff at 40% *r Mffi sq ..,
frtsr 6.dr *, + qra-6 ft-{ffi + t-oi + BrEFerd

0-Sftd ft-+ sft *R+q qi yirr Erngl

(a) What are the factors to be kept in mind while
deciding an investment? Explain. (8)

(b) Calculate the expected return and risk form the

following two securities : (10)

(ei) ilF+t d cffid Sftqr ffA{r frdq i dfr{{ + qrq

+ cq + qrrq' A-ffi{ Bth tr-qrrr {uns. qr qqi *Bqr

(r<) frtuq enffio- ft{M * ner xtufi c *r ff yi ffi
*i frqr rrcr i

qr].r4dT cftTR'A (%) YftTfrB (%)

0.25 12 t5

0.40 15 l4

0.35 ltt 22

22tt 3

qT

)

Economic
condition

Probability
Return on

security A (9/")
Return on

security B (Yo)

Bear 0.20 - l0

Normal 0.30 20 t0
Bull

0.50 22 25
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(c') frin or ffq ifr qqq ft;r or.+l + ta< i ttfir )

ilQqt qret dBq

(re) Fr<RR+t a rfo$A + 3lqErd Yfts-d ork ulRs{ m

rrurqT frfuq :

qrffi-+;

ffi {+Tl{{r
rftnR rw
cftsq trl

vftqft aw
cftET ttt

.ffi 0.20 -15

qrqFq 0.30 20 10

ffi 050 22

'?[T

(a) Discuss the qualitative

company's performance

factors that affect a

(8)

ffi cFilftud + tr sft: frfr'q (qra-6 F-{d-{ +

{-d{ t) + rToFT 6fts, qr?r ff {drd Afrs fr
q,t'{-€r cfutR +6ni + 3ltr d?

(b) An investor buys a bond for Rs. 950. The bond

maturity period is 4 years at par value and coupon

rate of 9Yo and face value is 1000. Find out the

yield to maturity of the bond. lf the bond is callable

after 2 years at 1025, calculate the yield to call'

(10)

OR

(a) Elaborate in brief about various equity valuation

models. (8)

(b) The following information of two securities is

grvcn:

Security R secudty S

Expected retum t 50k 2tr/o

Standard deviation 8% t0%

Coeffi ci ent of correlation 0.2

Find out the expected portfolio return and risk in

term of Standard deviation, if investor invest 40%o

in security A and 60% in security B. (10)
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(q') er d*- + ffft+- + qq{T R{ *< cRftr Rr +dr

i? cR d, S qrsr(r

(t<) qro qrqr rrR6-q<r il+,-ffi frriqlT + ++ ft-q

+?

qT

(o') il6-ft+1 mqur * trrr *t oq-RRS qr s-{t

dfrqr

(l<) at€ d qt de< Pwtft frtes:

(i) riE Md

(ii) Efr{c +q Md

(iii) +fdfu+. qf dt il6-d 3rt ol-SR.i

(a) What is bond investment? Elaborate various yield

associated with bond investment. (S)

(b) Find out the following ratio from given information :

Particulars ALtd.

Sales (Revenue from operation) Rs 400000

Net profit margin ratio 25Yo

No. ofequity shares 50000

Current market price of stock(Rs.) 20

EPS growth rate 7

(i) Earnings per share

(iii) Price earnings growrh ratio

(iv) Pricc rcvenue ratio

Also comment on it ( l0)

OR

(a) Discuss the top-down and bottom- up approaches

of fundamentals analysis. (S)

) )

4
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(b) What is company analysis and how it different

form the industry analYsis? (10)

(c,) ffi ffi + c-nt{ + ,!rGd a.t} sre 1olrtrn

qn-& q< qql dfust

(r+) A :r{ vrnclt t FrqRR{d rgvra an dBv:

ft{.!I A Ltd,

Rft r{qr.l-+ t rrqql 6qi + 400000

rla rtr,r rrffi'a wgvm 25v.

E&"-t Mi ff {rqr 50000

ci+ rr +trrr qr;rn {r{ (Fct 20

ffiqq ?a ... '7

(i) xR frw ar+

(ii) {iq strq Br{qrd

(iii) {q i{rq Ek qw

(lu) 1u irs€ 3E*.

zII

(o') w*ra \'{rRfr{ + dc-srs{ efu fr-cq-orq -gfudfr

qr qqt 6frsr

(te) affi ffiwr wr i *t q-a sfrq msur + *i rttr
+?

(a) Do stock prices have a support level and resistance

level? lf so, explain. (8)

(b) How Efficient Market Hypothesis is different from

technical analysis? ( l0)

OR

(a) Discuss the strengths and weaknesses of technical

analysis. (8)

(b) Write short note any two :

(i) Dow Theory

(ii) Elliott wave theory

) )

3

(iii) Candlestick
weaknesses

chart strengths and

( l0)
E€ rn fr t:qff dfrql
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